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QUESTION 1

You have been tasked with replacing an existing WebLogic domain with a brand new installation as part of a migration.
The new server needs to use the previously created JDBC store that holds existing JMS messages. 

Which two configuration requirements do you need to comply with in order to make the transition successful? (Choose
two.) 

A. In Persistent Stores, create a new JDBC store and select the option "Use existing store" 

B. The new domain name needs to be the same as the old domain it\\'s replacing 

C. Duplicate the JMS and persistent store configuration in the new domain 

D. The storage needs to be file based and not JDBC based 

E. Set the prefix for the JDBC store table to the domain name 

Correct Answer: AE 

 

QUESTION 2

Select two ways to start the Java-based Node Manager on a Linux machine. (Choose two.) 

A. Use the startNodeManager.sh script 

B. Use the administration console. Select the machine and then click the Start button. 

C. Have Node Manager start at system boot as a daemon 

D. Use the Oracle Process Manager and Notification Server (OPMN) to start Node Manager as a system process 

E. Set the appropriate environment variables. Then run the Java virtual machine with the class nodemanager.RunTime,
passing the class the proper parameters. 

Correct Answer: AB 

Reference: https://docs.oracle.com/middleware/1221/wls/NODEM/java_nodemgr.htm#NODEM173 

 

QUESTION 3

You use a web browser to log in to a application that is deployed to WebLogic server. When you click a link named
"publish" on the site, an Access Denied" message appears. 

Which two statements are true about this server\\'s security configuration? 

A. The application is not associated with any security roles. 

B. A security realms is not configured in this domain. 

C. Your user account has expired. 
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D. Your user account exists in an authentication provider. 

E. A security policy is attached to the "publish" link URL. 

Correct Answer: DE 

 

QUESTION 4

You plan to Install WeblLogic Server by using the generic JAR installer in silent mode. What are two ways to create the
required response file? 

A. First install or deinstall graphically. There is an option to save a response file. 

B. Use the sample response file in the installation documentation as a template. 

C. First run the Repository creation utility. There is an option to save a response file . 

D. The response file is not required. You can answer questions interactively at the command line. 

E. The genetic JAR installer does not have a silent mode .so you do not need a response file when using this installer. 

Correct Answer: AB 

 

QUESTION 5

You are using the Configuration Wizard to create a new domain that will consist of a cluster of a of three managed
servers along with an instance of WebLogic server acting as HIPT proxy to distribute traffic to the cluster. 

Which three steps should you perform with the Configuration Wizard? 

A. Create one Cluster. 

B. Install Oracle HTTP Server. 

C. Create one Coherence server. 

D. Create four managed servers. 

E. Assign three servers to a cluster. 

F. Specify a proxy port tor the administration server. 

Correct Answer: ADE 
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